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Physics 20 - Lesson 32

The Doppler Effect — Answer Key

Vypain =V, =100km/h=27.8m/s
a) Toward
f=f| Y |=400Hz 344m/s
V-V, 344m/s—-27.8m/s
f, =435Hz
b) Away
ot v :400Hz( 344m/s )
V+V 344m/s+27.8m/s
f, =370Hz
A =0.38m f_V_ 340m/s _ 8951z
v=340m/s A 0.38m
v, =20m/s
b) v, (+)
_ V+V,
2) () fo=fs(V V°j fozfs( y j
_ 340m/s+20m/s
¢ _gospy[340m/s—20m/s) ¢ :855( j
° 340m/s 340m/s
f =842Hz f, =948Hz
f, = 2150Hz e _of v
v=339m/s ° -y,
v, =—-25m/s(toward)
= 2150Hz[ —oom/s J
f,=7 339m/s—-25m/s
f, =2321Hz
fs =1200Hz ; ; V-V,
v, = 30.0m/s ° vy,
__O _
v, =-"18m/s f0=1200Hz(340m/s 18m/sj
f, =7 340m/s+30m/s
v=340m/s f, =1044Hz
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5) f. =5.17x10"Hz f f( v j

f =4.70x10" Hz Vv,
v=3.00x10°m/s vf, v, £, =V
/6 v, =7 by 2 V(f =)
T
v - 3.00x10°m/s(5.17x10" Hz, —4.70x10" Hz)
o 4.70x10" Hz

v, =3.0x10"m/s (away)

Dr. Ron Licht Answer Key 32 -2 www.structuredindependentlearning.com



